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ANSWER KEY

PART |
(20 MARKS)

SECTION A: 3 items 3 marks
SECTION B: 3 items 3 marks
SECTION C: 3 items 3 marks
SECTION D:

Question 1 - 8 items 4 marks

Question 2 - 6 items 3 marks
SECTION E: 8 items 4 marks
PART Il (80 MARKS)
QUESTION 1 10 marks
QUESTION 2 12 marks
QUESTION 3 8 marks
QUESTION 4 10 marks
QUESTION 5 6 marks
QUESTION 6 8 marks
QUESTION 7 3 marks
QUESTION 8 6 marks
QUESTION 9 3 marks
QUESTION 10 5 marks
QUESTION 11 4 marks

QUESTION 12 5 marks



PART| (20 MARKS)

SECTION A: ANSWERS: (3 marks)

1. Incorrect vocabulary/verb

2. An adjective was used instead of the verb lose/wrong verb

3. Wrong verb tense for actions happening now in passive voice/present continuous

SECTION B: ANSWERS: (3 marks)

1.B 2. A 3. A

SECTION C: ANSWERS (3 marks)

1. A. responsible/manager/ boss/head
2. A. was established

3. A. begged for sympathy/requested

SECTION D: ANSWERS

Question 1 (4 marks)
by

and

seldom
conventional
which

contributing

empower
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adjusted to

B. accused of/blamed for
B. was discovered/spotted/located

B. disagreed with/took legal action



Question 2 (3 marks)
A
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SECTION E: READING (4 marks)
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Question 1 (10 marks)

ok
OwooO>»

Question 2 (12 marks)
1.B2

2. A2
3.C1
4. Bl

Question 3 (8 marks)
1.B

2.D
3.E
4. G

Question 4 (10 marks)
1.C

2.D
3.B
4. E
5. A

Question 5 (6 marks)

PART Il (80 MARKS)

Effective Feedback Strategies: Numbers: 1, 3, 6



Question 6 (8 marks)
Extract 1 (4 marks)

Wrong
1. options
2. opens
3. moment

Wrong

=

In my opinion
2. such as;
3. too
4

. There are indeed a lot ...

Extract 2 (4 marks)

Wrong
1. encouraged
2. they'’re
3. should used

Wrong
1. Nowdays
2. lifes
3. bases

Question 7 (3 marks)

1.C 5.D
2.A 6.B
3.E
4. F

Question 8 (6 marks)

CEFR Level
1.B2
2. A1
3.B1

Correct
ways
switches/turns on
time

Correct
In my opinion,
such as
oo

There are, indeed, a lot ...

Correct
encourages/encourage
there are
should use

Correct
Nowadays
lives

basis

Speaking
Reading
Speaking



4. A2 Writing
5.B1 Listening
6.C1 Listening

Question 9 (3 marks)

1.E 4.D
2.C 5. A
3.B 6. F

Question 10 (5 marks)

1.B 5.D
2.C 6. E
3.A

Question 11 (4 marks)
1.C

2. Candidates’ own words - (Students should not be translating as one of the aims is to
encourage them to think in the target language.)

Question 12 (5 marks)
1.B

2.F
3.D
4. E
5.C



